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ﬁ Aim
- Ican calculate the mean
m as an average.
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Success Criteria _

* I can use my preferred methods for addition and division.

I~

* I can use a formula to calculate the mean of a set of data. =S8

* I can use the mean to find missing data.
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% My Methods

What methods would you prefer to use for these different calculations?

75+15=7 || 874 +248 =7 301+7 =7

® Talk to your partner about which method you would use for each one. ~== y
- | 1004 +843=7 || 12+7+28+13=7 126 +3 =7

31+ 37+32+33+34+33=7
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My Methods

Now select two additions and two divisions to solve using your preferred methods.

Compare methods and answers with your partner.

1004 + 843 =7 12+7+28 +13 =7 126 +3 =7
75+15=7 874 + 248 =7 3017 =7

31+ 37+32+33+34+33=7
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= My Methods

Let's look at the answers for the calculations, and some of the possible methods.

— ~—

You could mentally || You could use multiplication facts
add the hundreds, here. You know that 12 divided by
tens and ones in 3 is 4, so 120 divided by 3 is 40.

843 to 1004, And 6 divided by 3 is 2.

43

Here, you could use a written short
division method. You could say, “30
You could count (tens) divided by 7 is & (tens) with 2
up in 15s: 15, 30, tens left over. We can regroup the 2
45, 60, 75. tens with the 1 to make 21 (ones). 21
(ones) divided by 7 is 3 (ones).
4 tens and 3 ones is 43.
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My Methods

Let's look at the answers for the calculations, and some of the possible methods.

ere: 2 and 8 and 7 hundreds digits 8 + 2 = 10,
and 3. Add these, therefore this would be 1000.
then add the tens. Then, add on the tens and units.

ou could spot Again, you could look for
bmplements to 10 complements to 10. Here, the

For this calculation, you could use a written method to )
add first the ones, then the tens, then the hundreds.
Alternatively, you could use your knowledge of the 3

times table to add the tens and then add the units on.
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What Is the Mean?

The mean is a way of calculating the average of a set of numbers.

An average is a single value that
represents a set of values.

It is useful to find an average because
it can summarise a larger set of data
into a single value that is typical for
that data set.
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What Is the Mean?

For example, in a class of 35 children, there will be a range of different
shoe sizes. Finding the average shoe size sums up the data set of 35 shoe
sizes as one shoe size that is typical for that class.

There are different ways of finding an average value of a set of data.

The mean is one of the ways of calculating an
average value of a set of numerical data.

Numerical data is information that
is presented as numbers.
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= The Mean Formula

To calculate the mean of any set of data, there is a formula to follow:

mean = total + number of items

Following this formula
will give you the mean
average of any set of
numerical data.
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mean = total + number of items

Shoe Sizes in Green Group

Shoe Size
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The Mean Formula

To calculate the mean of any set of data, there is a formula to follow:

mean = 10

e XL

size in Green Shoe Sizes in Green Group

Group is 10. ) S Shoe Size

l The mean shoe
|
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Find the Mean

Use the formula to find the mean average of each of these sets of data.

mean = total + number of items
Team Played Goals Scored 3
Grantham Giants

Devon Dolphins

Boscastle Bears

Sheffield Storm

Accrington Alligators

Leyburn Leopards

Total
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Find the Mean

Use the formula to find the mean average of each of these sets of data.

mean = total + number of items

Team Played

Grantham Gian

Devon Dolphin

Sheffield Storm

Accrington Alligators

Leyburn Leopards

30 Total




Find the Mean

Use the formula to find the mean average of each of these sets of data.

mean = total + number of items

s
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Michael played 8 cricket matches. His scores for the 8
matches were: 98, 103, 76, 132, 53, 83, 112 and 63.
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mean = 720 - 8

mean score = 90
I 4
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Find the Mean

Use the formula to find the mean average of each of these sets of data.

mean = total + number of items
Flavour of Sweets Number in Packet 3 '

lime

blackcurrant

strawberry

lemon

Total

mean number

in packet = 7
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Find the Mean

It isn’t always helpful to find the mean average of a set of data.

Can you think of any other sets of
data where it wouldn't be helpful
to calculate the mean average?
This isn’t helpful. The mean ——
average of 26 js not q typical £

value for the age of the people in
the Ali family because there Is
such a big range of ages. If you
Just looked at the mean average,
| you might think that there
weren’t any children in the
tamily and you wouldn’t know
that Grandad lived with them,
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What's the Value?

Now that we understand how to find the mean, we can use our understanding
to find missing values in a set of data when given the mean.

(G )
\ -
Half Term Score
13
15
12 -
15
18 N , ‘

This table shows Kamil's
maths test scores for
each half term. The score
for term 4 is missing.
His mean score is 15.
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How can we work out |,
the missing score for |/
term 4 using the data |
and the mean?
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What's the Value?
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Now that we understand how to find the mean, we can use our understanding
to find missing values in a set of data when given the mean.

Half Term Score \/

1
2 15
3 12
4
5 15
6 18

This table shows Kamil's
maths test scores for
each half term. The score
for term 4 is missing.
His mean score is 15.

“t'est score.
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number of items

p—

mean = total

_We can rearrange the formula like
this: S

total = mean x number of items

We know that the mean is 1S, and
there are 6 items in the set of data.

This means the total must be
IS x 6, so the total is 90,

How can we work out
the missing score for
term 4 using the data
and the mean?

s

We can add up the given

scores and find the a’ifference

between this answer and 90.
_This will give us the missing
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What's the Value?

Now that we understand how to find the mean, we can use our understanding

to find missing values in a set of data when given the mean.

Half Term Score \/

B N

1

2 15
3 12
4 17
5 15
6 18

maths test scores for

His mean score is 15.

This table shows Kamil's

each half term. The score
for term 4 is missing.

The given scores total 73.

90 -73 =17

The missing test score must be 17—

We can check by adding up all the
scores and dividing by 6 to check
that the mean is 1S.

p—

How can we work out
the missing score for
term 4 using the data
and the mean?

N #
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What's the Value?

Now that we understand how to find the mean, we can use our understanding

to find missing values in a set of data when given the mean.

Half Term Score \/

1
2 15 1
3 12
4 17
5 15
6 18

This table shows Kamil's
maths test scores for
each half term. The score
for term 4 is missing.
His mean score is 15.

13+ 1S+ 12+17+1S+18

90 -6 =18

This proves that the
missing value is 17,

= G

p—

How can we work out
the missing score for
term 4 using the data
and the mean?
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( I can calculate the mean as an average. ( I can calculate the mean as an average. I can calculate the mean as an average.
T Some childr.enfrom Class 6A took part in different sporting activities anf - Some children from Class 6B took part in different sporting activities an|~ Some children from Class 6C took part in different sporting activities and recorded their scores,
goals and distances. goals and distances. goals and distances.
1. Find the mean average of each set of data. 1. Find the mean average of each set of data. 1. Find the mean average of this set of data.
= + i = total + b it 2
mean = total + number of items ‘ mean = total ¢ number of items mean = total + number of items
Dance Competition Long Jump Gymnastics Competition Netball Tournament Dance Competition
Child Score Child . Child Score - Child Child Score mean =
Adam 6 Emily Monica 13 Levi Arthur 19
Jan 4 Joshua Bev 16 Lauren Alex 13
Jurij 8 Charlie Sally 17 Taniils Sioned 12
Harry ) Anya Martha 12 Amy Mary 18
Ella 5 Sofia Asha 18 Tlang Joseph 12
Emelia 5 Maya Leo 14 Maggie Phoebe 16
Hafsa 7 Stefan Jayden 15 e Javid 15
Ciaran
- mean =
mean 2. Calculate how many goals Joe scored and add his total to the table.
mean =
Football Tournament
Hockey Tournament 2. Calculate how far Raymond threw the discus and add his measurem( Child Goals Scored mean = 6
Child Goals Scored Discus Alfe J
Ada 4 Child Distance (cm) mean = total Oecar 8
Rebecca 6 Eimear 116 Joe
total = mea Phil 5
Ivan 2 Jake 122 :
e o Rosa 99 mean = 112 Amina 9
Jay 4 Raymond Gemma :
Sara 2 Terry 106
Courtney 119
mean =
David 114
Stefani 109
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% Solve It

i
L

Use your understanding of the mean to solve this problem.

P  Find the number of fruits on each tree.

s i
=

anb 1

Hambe

The pear tree hgs
5 fewer fruits
than the plum
tree and 8 more
fruits than the
lemon tree,

T T N

23 apples

17 plums

12 pears

8 peaches

4 lemons

10 cherries
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I can calculate the mean as an average.

gl 5
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Success Criteria
* I can use my preferred methods for addition and division. JJ* ; f"

* I can use a formula to calculate the mean of a set of data. T

* I can use the mean to find missing data. o
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